CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, EFFECTIVE AUGUST 21, 2023, \$35.57 PER HOUR (23-24): (10-1100-0000-1341-498-4)

Dukett, Jennifer

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 4, 2023, \$35.57 PER HOUR: (10-2210-0900-1341-531-4)

Boarman, Claire	1.75 hours	\$62.25
Goss-Rodgers, Gina	2.00 hours	71.14
Horstman, Laura	2.00 hours	71.14
Rosa, Leslie	1.50 hours	53.36

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL DATA DAY ACTIVITIES OCTOBER 3, 2023, \$35.57 PER HOUR: (10-2210-0700-1341-531-4)

Drennan, Emily	1.00 hours	\$35.57
Holler, Melinda	2.00 hours	71.14
Joyner, Abbie	2.00 hours	71.14
Komnick, John	2.00 hours	71.14

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CLEVER LEARNING PLATFORM PROFESSIONAL DEVELOPMENT SEPTEMBER 28, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0000-1341-564-4)

Aladesuyi, Adetoro	Nestler, Tena
Dickman, Barbara	Phillips, Shawnda
Dill-Prusak, Megan	Tomasko, Kimberly

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION WASHINGTON MIDDLE SCHOOL WEB HOURS AUGUST 1 THROUGH AUGUST 15, 2023, \$33.88 PER HOUR: (10-2210-6412-1341-000-0)

Coons, Roanna	10.00 hours	\$338.80
Schatz, Katie	34.00 hours	1,151.92

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL DATA DAY ACTIVITIES OCTOBER 18, 2023, \$25.19 PER HOUR, 1 HOUR FOR A TOTAL OF \$25.19 EACH: (10-2210-0700-1341-531-4)

Drennan, Emily	Grieme, Nathan
Frech, Jane	Scott, Dawn

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL DATA DAY ACTIVITIES OCTOBER 17, 2023, \$35.57 PER HOUR: (10-2210-0700-1341-531-4)

Drennan, Emily	2.00 hours	\$71.14
Holler, Melinda	1.00 hours	35.57
Johnson, Kassandra	2.00 hours	71.14
Joyner, Abbie	2.00 hours	71.14
Pfaffe, Alexander	2.00 hours	71.14
Taylor, Joelyn	1.00 hours	35.57

 VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES AUGUST CPI INSTRUCTIONAL ACTIVITIES AUGUST 1 THROUGH AUGUST 4, 2023, \$33.88 PER HOUR, 9 HOURS FOR A TOTAL OF \$304.92: (10-1200-6220-1165-000-0)

Tennant, Mary

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY PATTERNS OF POWER PROFESSIONAL DEVELOPMENT SEPTEMBER 18, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

Borders, Ashley	Jones, Erika
Covey, Heather	Kwedar, Rebecca
Cwiertniak, Anita	Langen, Natasha
Dalby, Derry	Mceuen, Molly
Duke, Karen	Nolting, Jenny
Fox, Kathleen	Parks, Victoria
Frank, Kristine	Rahman, Asima
Gebhardt, Emily	Robinson, Sarah
Grieme, Nathan	Rudd, Douglas
Grieser, Jennifer	Seiz, Anne
Hale, Marcy	Taylor, Christina
Hood, Heidi	Whitlock, Katherine
Johnson, Marissa	

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES AUGUST MEDICAID BILLING ACTIVITIES AUGUST 17 THROUGH SEPTEMBER 6, 2023, FOR RATE SPECIFIED : (10-2210-6220-1342-000-0)

Baker, Audrey	3.00 hours	\$40.97 Per Hour	\$122.91
Blackwood-Lee, Michelle	2.75 hours	\$63.34 Per Hour	174.19
Boggs, Lindsay	7.00 hours	\$70.42 Per Hour	492.94
Bramblett, Rebecca	5.00 hours	\$70.42 Per Hour	352.10
Brinkmann, Kristen	5.00 hours	\$62.15 Per Hour	310.75
Clark, Abigail	2.00 hours	\$53.68 Per Hour	107.36
Clark, Michelle	3.50 hours	\$75.75 Per Hour	265.13
Corley, Elizabeth	5.00 hours	\$66.93 Per Hour	334.65
Deatherage, Debra	9.00 hours	\$65.25 Per Hour	587.25
Farley, Nicole	5.00 hours	\$53.68 Per Hour	268.40
Fenstermacher, Lori	3.00 hours	\$75.75 Per Hour	227.25
Foster, Jennifer	4.00 hours	\$56.52 Per Hour	226.08
Groesch, Erica	1.00 hours	\$75.75 Per Hour	75.75
Gruenenfelder, Tara	1.50 hours	\$70.42 Per Hour	105.63
Hummel, Emily	1.50 hours	\$66.93 Per Hour	100.40
Kim, Whitney	3.00 hours	\$75.75 Per Hour	227.25
Kinkade, Taylor	4.00 hours	\$45.21 Per Hour	180.84
Lanter, Lindsey	5.00 hours	\$58.00 Per Hour	290.00
Marcum, Stacie	0.75 hours	\$56.52 Per Hour	42.39
Mcdaniel-Norton, Stacey	2.25 hours	\$74.69 Per Hour	168.05
Naumovich, Amanda	3.00 hours	\$70.42 Per Hour	211.26
Ohl, Stephanie	3.00 hours	\$52.26 Per Hour	156.78
Plunkett, Cara	3.00 hours	\$53.68 Per Hour	161.04
Reitz, Laura	5.00 hours	\$64.98 Per Hour	324.90
Roe, Katie	5.00 hours	\$72.55 Per Hour	362.75
Rouland, Jill	3.00 hours	\$63.57 Per Hour	190.71
Sapetti, Camryn	1.00 hours	\$42.38 Per Hour	42.38

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION KIDS TRAINING AUGUST 19 THROUGH OCTOBER 9, 2023, \$35.57 PER HOUR, 6 HOURS FOR A TOTAL OF \$213.42 EACH: (10-2210-0000-1341-564-4)

> Amerson, Megan Brinkley, Rita Lipka, Carrie Milliman, Kathryn

Nelson, Courtney Newton, Antony Small, Laura XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES SEPTEMBER MEDICAID BILLING ACTIVITIES SEPTEMBER 1 THROUGH OCTOBER 14, 2023, FOR RATE SPECIFIED : (10-2210-6220-1342-000-0)

	4 00 1		¢1(2,00
Baker, Audrey	4.00 hours	\$40.97 Per Hour	\$163.88
Baker, Roxanne	4.00 hours	\$60.74 Per Hour	242.96
Blackwood-Lee, Michelle	4.50 hours	\$63.34 Per Hour	285.03
Bramblett, Rebecca	4.50 hours	\$70.42 Per Hour	316.89
Brinkmann, Kristen	4.75 hours	\$62.15 Per Hour	295.21
Clark, Abigail	5.00 hours	\$53.68 Per Hour	268.40
Clark, Michelle	4.25 hours	\$75.75 Per Hour	321.94
Corley, Elizabeth	4.75 hours	\$66.93 Per Hour	317.92
Crabtree, Caroline	3.50 hours	\$42.38 Per Hour	148.33
Deatherage, Debra	4.50 hours	\$65.25 Per Hour	293.63
Dwyer, Stephen	2.00 hours	\$64.98 Per Hour	129.96
Farley, Nicole	5.00 hours	\$53.68 Per Hour	268.40
Fenstermacher, Lori	5.00 hours	\$75.75 Per Hour	378.75
Foster, Jennifer	4.00 hours	\$56.52 Per Hour	226.08
Green, Allison	0.75 hours	\$72.55 Per Hour	54.41
Groesch, Erica	4.50 hours	\$75.75 Per Hour	340.88
Hummel, Emily	5.00 hours	\$66.93 Per Hour	334.65
Judy, Kathryn	3.50 hours	\$42.38 Per Hour	148.33
Kaufmann, Sarah	3.75 hours	\$62.15 Per Hour	233.06
Kim, Whitney	4.50 hours	\$75.75 Per Hour	340.88
Kinkade, Taylor	4.00 hours	\$45.21 Per Hour	180.84
Lanter, Lindsey	4.50 hours	\$58.00 Per Hour	261.00
Marcum, Stacie	3.75 hours	\$56.52 Per Hour	211.95
Mcdaniel-Norton, Stacey	5.00 hours	\$74.69 Per Hour	373.45
Moore, Carolyn	4.50 hours	\$64.98 Per Hour	292.41
Naumovich, Amanda	5.00 hours	\$70.42 Per Hour	352.10
Plunkett, Cara	3.75 hours	\$53.68 Per Hour	201.30
Ramirez, Amalia	2.50 hours	\$46.62 Per Hour	116.55
Rehn, Megan	4.50 hours	\$43.79 Per Hour	197.06
Reitz, Laura	5.00 hours	\$64.98 Per Hour	324.90
Roe, Katie	4.00 hours	\$72.55 Per Hour	290.20
Rouland, Jill	3.50 hours	\$63.57 Per Hour	222.50
Sapetti, Camryn	2.00 hours	\$42.38 Per Hour	84.76
Vice, Morgan	5.00 hours	\$43.79 Per Hour	218.95
, ice, morgan	2.00 110415	ψ 13.77 1 CI 11001	210.75

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL PATTERNS OF POWER PROFESSIONAL DEVELOPMENT AUGUST 31, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Beebe, Lisa	Lewis, Danielle
Furkin, Ruth	Reynolds, Amanda
Gibbs, Katie	Romer, Gina
Holcomb, Beth	Schatz, Katie
Johnson, Nefra	

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES OCTOBER 2 THROUGH OCTOBER 12, 2023, \$32.26 PER HOUR, 20.5 HOURS FOR A TOTAL OF \$661.33: (10-3700-0000-1243-531-4)

Lamsargis, Kathy

 RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SRI PLC OCTOBER 2, 2023, \$35.57 PER HOUR, 2.25 HOURS FOR A TOTAL OF \$80.03 EACH: (10-2210-0000-1341-564-4)

Barnard, Rachel	Murphy, Melissa
Broussard, Karveta	Piper, Riley
Campbell, Melissa	Punke, Lindsay
Dickman, Barbara	Roark, Heather
Eck, Lindsay	Sales, Kaci
Ericson, Stacey	Schoedel, William
Green, Allison	Shepherd, Tosha
Johnson, Marissa	Stoll, Nicole
Kahl, Lindsay	Swaggerty, Dawn
Mcquillan, Marilou	West, Erica

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 24, 2023, \$35.57 PER HOUR: (10-2210-4331-1341-534-4)

Love, Brenna	1.50 hours	\$53.36
Martin, Bailey	1.50 hours	53.36
Robinson, Jillane	1.00 hours	35.57
Steinmeyer, Shelby	1.50 hours	53.36
Wilson, Krista	1.50 hours	53.36

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION GOOGLE MEET PROFESSIONAL DEVELOPMENT OCTOBER 12, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0000-1341-564-4)

Bishoff, Anne Dill-Prusak, Megan Flesner, Ida Gilchrese, Tia Helton, Rachel Kircher, Megan Mcfadden, Jennifer Romer, Gina Schaefer, Bridget Smith, Kelsie Stephens, Catherine Taylor, Joelyn Tomasko, Kimberly

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL PATTERNS OF POWER PROFESSIONAL DEVELOPMENT SEPTEMBER 29, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

> Bishoff, Anne Dulski, Joseph Edwards, Dana

Meiners, Suzanne Poe, Sarah

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL SOCIAL STUDIES PROFESSIONAL DEVELOPMENT SEPTEMBER 12, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

> Coons, Roanna Mitts, Jodi

Rawls, Nicola

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION 7TH GRADE ACCELERATED PLANNING OCTOBER 18, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Boarman, Claire	1.50 hours	\$53.36
Bruning, Katie	1.50 hours	53.36
Hilliard, Patricia	1.00 hours	35.57
House, Amber	1.50 hours	53.36
Moore, Lindsey	1.50 hours	53.36
Schroeder, Cynthia	0.75 hours	26.68
Thomas, Lori	0.75 hours	26.68

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CULTIVATING GENIUS PROFESSIONAL DEVELOPMENT OCTOBER 17, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Allender, Jennifer	1.50 hours	\$53.36
Anselm, Meghan	1.50 hours	53.36
Freeman, Tina	1.50 hours	53.36
Gibbs, Katie	1.50 hours	53.36
Kyes, Jessieca	1.50 hours	53.36
Martin, Colleen	1.50 hours	53.36
Mccarthy, Caitlin	1.50 hours	53.36
Romer, Gina	1.00 hours	35.57
Schatz, Katie	1.50 hours	53.36
Stearns, Katherine	1.50 hours	53.36

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL SOCIAL STUDIES PROFESSIONAL DEVELOPMENT SEPTEMBER 11, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

> Bond, Corey Dickman, Barbara Lightfoot, Jeffrey

Volpert, Andrew Yoho, Brock

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL ENGLISH PROFESSIONAL DEVELOPMENT SEPTEMBER 7, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

> Eaton, Deborah Edwards, Dana Goodrich, Karmen

Poe, Sarah Rennison, Laura

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL ENGLISH PROFESSIONAL DEVELOPMENT AUGUST 29, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

> Crow, Cynthia Gibbs, Katie Johnson, Nefra

Martin, Colleen Schatz, Katie XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY PATTERNS OF POWER PROFESSIONAL DEVELOPMENT OCTOBER 11, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

Baldin, Jennifer	Lee, Sabrina
Brillhart, Sarah	Lightfoot, Stephanie
Cantrell, Kenda	Lueking, Mary
Chasco, Amber	Martin, Bailey
Dresch, Kim	Milnes, Karen
Foster, Carmelita	Noll, Meghan
Groth, Christine	Redpath, Sara
Hays, Megan	Smith, Melissa
Israel, April	Vogel, Carolyn
Kircher, Megan	Williams, Kauntessa
Lafountain, Taunja	

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION BBSS COACHES MEETING OCTOBER 11, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14: (10-2210-0000-1341-564-4)

Downs, Melinda

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL MATH COLLABORATION SEPTEMBER 20, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Biggers, James	0.25 hours	\$8.89
Gardner, Andrew	0.25 hours	8.89
Goff, Melissa	1.50 hours	53.36
Hull, Brent	1.50 hours	53.36
Hull, Jalene	1.50 hours	53.36
Kinder, Scott	1.50 hours	53.36
Lin, Christine	1.50 hours	53.36
Mcdonald, Colleen	1.50 hours	53.36
Slater, Toni	1.50 hours	53.36
Stevens, Joseph	1.50 hours	53.36
Wieneke, Monica	1.50 hours	53.36

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AUTISM PROFESSIONAL DEVELOPMENT SEPTEMBER 13, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0000-1341-564-4)

Ginsberg, Rachel	Plunkett, Cara
Jaderholm, Annette	Sapetti, Camryn
Mann, Jennifer	Young, Veronika

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION NEW TEACHER YEAR 1 FORUM 3 SEPTEMBER 28, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Antonacci, Abigail	Koustas, Madison
Baker, Brandon	Lessen, Kelsey
Behnke, Joshua	Lin, Christine
Biggers, James	Martin, Bailey
Brinkley, Rita	Mceuen, Molly
Butler, Allory	Mcgill, Virginia
Cook, Kaitlyn	Milliman, Kathryn
Cullen, Kristin	Mueller, Cassandra
Daley, Melinda	Raymond, Christopher
Enlow, Natalie	Rivera, Onya
Erickson, Carlie	Rothfus, Erin
Farthing, Josh	Scheffers, James
Foehner, Whitley	Sevener, Alayna
Garrett, Olivia	Shirley, Gabrielle
Glisson, Alec	Shively, Lydia
Green, Shelby	Smith, Mckenzie
Hawkshaw, Meghan	Smith, Melissa
House, Mikaila	White, Lauren
Johnson Collins, Alyson	Yockey, Lucille
Kantor, Kyler	

XXX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION AUTISM PROFESSIONAL DEVELOPMENT SEPTEMBER 13, 2023, FOR RATE SPECIFIED : (10-2210-0000-1341-564-4)

Christison, Kassidy	2.00 hours	\$16.72 Per Hour	\$33.44
Moore, Corey	1.00 hours	\$62.99 Per Hour	62.99
Ruyle, Benjamin	1.00 hours	\$60.49 Per Hour	60.49
Seebold, Janie	2.00 hours	\$20.34 Per Hour	40.68

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION NEW TEACHER YEAR 2 FORUM 2 OCTOBER 5, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Anderson, Michael	Johannes, Madison
Daley, Melinda	Kircher, Megan
Dupuis, Adam	Kondelis, Lydia
Erickson, Carlie	Krutsinger, Roxane
Floyd, Alaxandria	Lanter, Adam
Gilbert, Rachel	Riedle, Lindsey
Gilchrese, Tia	Scheffers, James
Gilmore, Elizabeth	Schwappach, Hayley
Groth, Christine	Volk, Rachel
Hayes III, Richard	Woodside, Alexis

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION APP CREATORS PROJECT LEAD THE WAY CORE TRAINING JULY 5 THROUGH JULY 9, 2023, \$33.88 PER HOUR, 40 HOURS FOR A TOTAL OF \$1,355.20: (10-2210-0000-1341-564-4)

Standley, Emily

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FAIRVIEW BBSS SUPPORT STAFF TRAINING SEPTEMBER 28, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0000-1341-564-4)

Blankenship, Christie

Shockey, Violeta

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FRANKLIN BBSS SUMMER RETREAT PART 2 AUGUST 15, 2023, \$33.88 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$84.70 EACH: (10-2210-0000-1341-564-4)

> Blankenship, Autumn Bolt, Anna

Plummer, Kahla Zimmers, Layne

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL DATA DAY ACTIVITIES OCTOBER 25, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0700-1341-531-4)

> Drennan, Emily Kent, Kyle

Scott, Dawn Sperle, Traci XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION NEW TEACHER YEAR 1 FORUM 4 SEPTEMBER 28, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Antonacci, Abigail	Lessen, Kelsey
Baker, Brandon	Lin, Christine
Behnke, Joshua	Martin, Bailey
Biggers, James	Mceuen, Molly
Brinkley, Rita	Mcgill, Virginia
Butler, Allory	Milliman, Kathryn
Cook, Kaitlyn	Mueller, Cassandra
Cullen, Kristin	Nelson, Courtney
Daley, Melinda	Perry, Claudia
Decker, Taylor	Raymond, Christopher
Erickson, Carlie	Rivera, Onya
Farthing, Josh	Rothfus, Erin
Foehner, Whitley	Scheffers, James
Garrett, Olivia	Sevener, Alayna
Glisson, Alec	Shirley, Gabrielle
Green, Shelby	Shively, Lydia
Hawkshaw, Meghan	Smith, Mckenzie
House, Mikaila	Sperle, Traci
Johnson Collins, Alyson	White, Lauren
Kantor, Kyler	Yockey, Lucille
Koustas, Madison	

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION APP CREATORS PROJECT LEAD THE WAY CORE TRAINING JULY 5 THROUGH JULY 9, 2023, \$33.88 PER HOUR, 20 HOURS FOR A TOTAL OF \$677.60: (10-2210-0000-1341-564-4)

Daniels, Sherry

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL DEPARTMENT CHAIR MEETING OCTOBER 23, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

> Allen, Laura Covey, James Finley, Anne Fromm, Kelly Goff, Donald

Troemper, Brett Vanderslik, Julie Weller, Amy Westfall, Katrina Ziemba-Montavon, Tammy

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION COGAT TRAINING SEPTEMBER 21 THROUGH SEPTEMBER 27, 2023, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-0000-1341-564-4)

Bramblett, Rebecca	Hockenyos, Karen
Browning, Elizabeth	Kent, Kyle
Burke, Evan	Kircher, Megan
Capranica, Amy	Lantz, Andrew
Chasco, Amber	Meyer, Heather
Dunn, Andrea	Nunn, Jelinda
Eichinger, Amy	Perry, Whitney
Foster, Carmelita	Shepherd, Donna
Freeman, Cynthia	Smith, Melissa
Hays, Megan	St. Aubin, Katrina

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION KIDS TRAINING JULY 23, 2023, \$33.88 PER HOUR, 6 HOURS FOR A TOTAL OF \$203.28: (10-2210-0000-1341-564-4)

Gallina, Maria

XLI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION SRI PLC OCTOBER 2, 2023, \$24.65 PER HOUR, 2.25 HOURS FOR A TOTAL OF \$55.46: (10-2210-0000-1341-564-4)

Boggs, Stacia

XLII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION FAIRVIEW BBSS SUPPORT STAFF TRAINING SEPTEMBER 28, 2023, FOR RATE SPECIFIED : (10-2210-0000-1341-564-4)

Fitzgerald, Vickie	1.00 hours	\$29.49 Per Hour	\$29.49
Miller, Naomi	1.00 hours	\$32.62 Per Hour	32.62
Nolte, Erin	1.00 hours	\$19.09 Per Hour	19.09

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION 7TH GRADE ACCELERATED PLANNING OCTOBER 24, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

> Moore, Lindsey Schaefer, Bridget

Webster, Stephanie

XLIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL MATH BACKWARDS PLANNING ACTIVITIES OCTOBER 23, 2023, \$35.57 PER HOUR: (10-2210-0900-1341-531-4)

Boarman, Claire	2.00 hours	\$71.14
Goss-Rodgers, Gina	1.00 hours	35.57
Horstman, Laura	2.00 hours	71.14
Kulavic, Tara	1.75 hours	62.25

XLV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTVITIES OCTOBER 16 THROUGH OCTOBER 26, 2023, \$32.26 PER HOUR, 19.5 HOURS FOR A TOTAL OF \$629.07: (10-3700-0000-1243-531-4)

Lamsargis, Kathy

XLVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES 2023-2024 SEPTEMBER MEDICAID BILLING ACTIVITIES SEPTEMBER 26 THROUGH SEPTEMBER 29, 2023, \$45.39 PER HOUR, .5 HOURS FOR A TOTAL OF \$22.70: (10-2210-6220-1165-000-0)

Blakley, Jennifer

XLVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 25, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0800-1341-531-4)

Ciotti, Ryan	Hustedt, Isaac
Fox, Kathleen	

XLVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY BACKWARDS PLANNING OCTOBER 11, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Bartolomucci, Dena	3.00 hours	\$106.71
Hockenyos, Karen	1.00 hours	35.57
Nelson, Courtney	3.00 hours	106.71
Phillips, Suzanne	3.00 hours	106.71
Senger, Kristin	3.00 hours	106.71

XLIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION BBSS ACADEMY-CULTURAL HUMILITY OCTOBER 18, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

Casson, Meghan	Kahl, Lindsay
Davis, Lisa	Kunz, Amber
Finney, Riley	Marvel, Andrea
Foehner, Whitley	Meyer, Catherine
Hays, Megan	Plunkett, Cara
Henson, Kristinah	Purdy, Patricia
Hustedt, Isaac	Rudin, Rebecca
Jackson, Ashton	West, Erica

L RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY BACKWARDS PLANNING OCTOBER 23 THROUGH OCTOBER 24, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Beck, Melissa	3.00 hours	\$106.71
Cano, Michelle	3.00 hours	106.71
Gilmore, Elizabeth	3.00 hours	106.71
Godefroid, Amie	3.00 hours	106.71
Hockenyos, Karen	5.50 hours	195.64
Johannes, Madison	3.00 hours	106.71
Pyle, Amy	3.00 hours	106.71

LI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HARVARD PARK CO-TEACHING/BACKWARDS PLANNING ACTIVITIES AUGUST 23 THROUGH OCTOBER 23, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

1.00 hours	\$35.57
26.00 hours	924.82
3.00 hours	106.71
18.00 hours	640.26
3.00 hours	106.71
1.00 hours	35.57
1.00 hours	35.57
2.00 hours	71.14
3.00 hours	106.71
8.00 hours	284.56
2.00 hours	71.14
	26.00 hours 3.00 hours 18.00 hours 3.00 hours 1.00 hours 2.00 hours 3.00 hours 8.00 hours

LII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LITERACY CURRICULUM ADOPTION PROFESSIONAL DEVELOPMENT SEPTEMBER 21, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Allender, Jennifer	2.00 hours	\$71.14
Anselm, Meghan	2.00 hours	71.14
Appenzeller, Lisa	2.00 hours	71.14
Barham, Ashley	2.00 hours	71.14
Bluhm, Wendy	2.00 hours	71.14
Crum, Milena	2.00 hours	71.14
Dabbs, Kathryn	2.00 hours	71.14
Etchill, Jamie	2.00 hours	71.14
Freeman, Tina	2.00 hours	71.14
Gibbs, Katie	2.00 hours	71.14
Gordon, Tracy	2.00 hours	71.14
Hale, Marcy	2.00 hours	71.14
Harris, Nicolette	2.00 hours	71.14
Havenar, Meri	2.00 hours	71.14
Hockenyos, Karen	2.00 hours	71.14
Johnson, Kassandra	1.50 hours	53.36
Jones, Erika	2.00 hours	71.14
Martin, Colleen	2.00 hours	71.14
Mccarthy, Caitlin	2.00 hours	71.14
Mead, Nena	2.00 hours	71.14
Midiri, Stefanie	2.00 hours	71.14
Poss, Nichole	2.00 hours	71.14
Robinson, Sarah	2.00 hours	71.14
Rodden, Katelynn	2.00 hours	71.14
Romer, Gina	2.00 hours	71.14
Schatz, Katie	2.00 hours	71.14
Taylor, Christina	2.00 hours	71.14
Williams, Jayda	2.00 hours	71.14
Williams, Kauntessa	2.00 hours	71.14

LIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION FAIRVIEW CULTURAL HUMILITY SUPPORT STAFF TRAINING OCTOBER 26, 2023, FOR RATE SPECIFIED : (10-2210-0000-1341-564-4)

Fitzgerald, Vickie	1.00 hours	\$29.49 Per Hour	\$29.49
Miller, Naomi	1.00 hours	\$32.62 Per Hour	32.62
Nolte, Erin	1.00 hours	\$19.09 Per Hour	19.09

LIV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION BBSS ACADEMY-CULTURAL HUMILITY OCTOBER 18, 2023 FOR RATE SPECIFIED : (10-2210-0000-1341-564-4)

Bennett, Evonne	2.00 hours	\$21.94 Per Hour	\$43.88
Hughes, Gary	2.00 hours	\$20.34 Per Hour	40.68
Leibbrand, Julie	2.00 hours	\$19.82 Per Hour	39.64
Thompson, Christine	2.00 hours	\$16.72 Per Hour	33.44

LV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION COMMUNITY BASED PROGRAMS BBSS PROFESSIONAL DEVELOPMENT SEPTEMBER 6, 2023, FOR RATE SPECIFIED : (10-2210-0000-1341-564-4)

Albaugh, Jenna	1.00 hours	\$57.22 Per Hour	\$57.22
Nelson, Tara	1.00 hours	\$67.94 Per Hour	67.94
Short, Anne	1.00 hours	\$34.01 Per Hour	34.01